1986 4 HUA 3 [3]

J-l 1, (o b2 3 SR
_1f(x)dx:2_[0(bx +d)dx=2 §X +dx :§b+2d (o x7, xI LA R
0

uf(s) + vf(t) =u(as® + bs? + cs+d) + v(at® + bt? + ct+d)

=(s3u+t3v)a+ (s2u +t2v)b + (su + tv)c + (u + v)d
EEOabcdizonT jll F(x)dx=uf (s) + VE (t) BSERAr T % 7= e i

sSu+tiv=0 —O
32u+t2v=§ —Q®
su+tv=0 —
u+v=2 —@

@, XY (t-su=2t s<tkVszxtTHLIMND,

2t 25
U=——y=—"2
t—s t-—s
DIZfCAT B &
253t — 2st3
t—s

X Vu=v=1ThHy, @LY

=0 st(s+t)(s—-t)=0 ..s+t=0 ..t=-s

2 1 1 1
2s° =2 2= s<tkV . s=——t=—"
3 3 3B
AEIZX D,
.'.u=v=1,s=—i,t= ------ )



